A s (¢gion with Geld noF —
Whle aren  encloset

- —A0B
9 E= 355t

W Fell s ihcrwsing in the -3 divechion
thus ik s decreosing in ¢he ¥2 dicect o
5o counter o lek wre | = .

9 7 [WH{SFeltl= 9§ Eue = 7498
| use box contours
3@/7[%%? gE*oLQ :.-..(EOHOa.)L - Eb

x::f \’(xtcatm . =0ab '7& O so
fhere must be a
Ez{\_{E: Ve = B=FEptI0x B feld chinslng Tn fire

§B = abB = 953 :::—cxba'B! = &
~ oF
7


http:ctecrt"o.si

e

J@ 4: \b i\ \L x!cbts"i“s_aS«l‘aJw‘c pro blem
’ — SO‘th S'rwu,’d €

§E-dL =-dE+0 # O 5o dork

our asumrton that He Qeld cats off abndts
'3 W reng |

\ e \L ) . .( yx’. PR
- : WY Y o

")QFC we QC’)' ;Coir\',’r;b;n(-?’cmﬁ 'Gbm ‘H,e KOU’Z’(J‘I‘%’D
contours Hat capcel out the PQF‘Hn sde

fiwging bopens because magnelic fells Would pop ot
odler wise and  fhi— &u&ﬁ&é’n@ )
‘ o o e i j

7 -

-

= 7 .

P -
* o .

P . o -
é v
’
;

/ ’ f
L 2
by =BRy,
/"" /



note In this pog;%g‘an
EB = O «s there is no loop

5}160 1 i‘gmrc‘ ﬂuch

e N

N(r) = w s
VF-—quB qcor.Br
| fF'Jr‘ -'7/(/’8@
2=q€ so E= R Bao
oz

s

57) T =Tosnw+ T _=]0KA B:—.—MoId}

™~ \ \ \ 2 .
L/)/ )3:2[515» § - I(JLLO:C(+)S?’_- |
o) B = AuTH) 3”@-) E,aéb ~4-1_A4_p_wémi§/n()
=%
L= 1702k
Mo ]nOaf) n

l‘)) <p> = ~...- ('WS comé# from -;2" Ss‘m"'ed,*e =4
R, vm.,g_z ><P> = (170)"

) < 975'63.5 - K?J/bur ﬁ P56~

00 se
lOOO\J[Kg o\) tH\J( Mu be @(Qo:s:s‘;\m po wer
DS Ner -“( BN NI



\-5\" Wis live

) Sg) | = duse 95 WI=dog
A LAL B\QO&S cﬁ’am Bi_sz

rr
6 €= ’&B TLaZQB (M mj.lu@ —

-T- B

)

2)_4 \, v
aﬁu me Cu,rrfnh a e na){\’,&{&
' B

3= BeA = BA co.seﬁuBA(ﬁ.g)

1%3% = BA@@ = BL% 6
boek o 22|
JA 60 = 95605(@"‘) W= J—EZ
\ @‘G) =-6,¥ f\ﬁC@g-D
= 'BA‘Q?’@,Z\B/;, sin (’ZFZL +)
pA




